
Original InstructionsOriginal Instructions

numatic.comnumatic.com
NKT0/1/2 NKT0/1/2 
LLRLLR



2

X4X4

M5 X 40

X4 X4
M8 X 25

X4

M8

X4

No8 x1 1/2 inch

X6

M5 x 30

X2

M5 X 25

X2

M6 X 70

X2

NKT0/1/2 LLR

NKT1 LLR
M5 x 30

X4

M5 X 25

X4

NKT2 LLR



3

NKT2 LLRNKT1/2 LLR

7

6

4

5

3

9

8

2

101
11

12
13

15

14

8A

NKT0/1/2 LLR



4

ITEM DESCRIPTION QTY

1 BASE 1
2 FRONT UPRIGHT FRAME 1
3 REAR UPRIGHT FRAME 1
4 DOOR MOUNTING MOULDING 2
5 PANEL MOULDING 2
6 SHELF 6
7 TWIN SLIDING COVER 1
8 COVER PULL TUBE 2

8A COVER TUBE PROFILE MOULDING 2
9 TWIN REAR COVER 1
10 UPPER REAR TIE BAR WITH HOLES 1
11 UPPER TIE BAR NO HOLES 1

ITEM DESCRIPTION NKT1R NKT2R
12 BAG SUPPORT FRAME ASSEMBLY 1 2
13 BAG SUPPORT FRAME MOUNTING 1 2
14 100LTR LAUNDRY BAG 1 2
15 BAG SUPPORT TRAY 1 2

NKS0/1/2 LLR

NKT1/2 LLR

0.75 HR



5

NKT0/1/2 LLR



6

M8 X 25

X4

M8

X4

X4



7

X4 X4



8

M5 X 40

X4

X4

X2

X2



9



10

No8 x1 1/2 inch

X2

X2



11

M6 X 70

X2

X2



12



13

No8 x1 1/2 inch

X2

X2



14

No8 x1 1/2 inch

X2

X2



15



16

M5 X 25

X4

X2

X2

NKT0- LLR



17

M5 X 25

X2

X2

NKT1/2 LLR



18

904520
M5 x 30

X4

X2



19

NKT1/2 LLR



20

X2



21

M5 X 25

X2

NKT2 LLR



22

M5 x 30

X4

X2



23



906553 01/24 (A07)

X2

numatic.comnumatic.com
24


